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4-6 8 11 15
5-6 6 10 12

10

10
10

10
10

10
10



Q5 ()

(e1)

Q5 ()

Bls 91uLeAL R, 2 HIUEA drsal HiZe, i, [EdRpL 12 418l 9.,

ALl 9 10 11 12 13
454
AMI AL 0.03 0.26 0.43 21 0.07

ofl 135 Asatedl vidldl Bud 4.5 3. 24 A, BHA 7 3. @l #id d A daiial -2 vt
UL 215l o €l dl £R2ley ABL Szel Asell wRlsd] sxidal ?
[l Rathid-al s2st Agdl.

34l
A - ag, [REkid v qlraiudl i agal,
SyEl Syel s Whel, B2l HIZ AR Alls {14 Yoyl 8, Y-de, de -0, ARAl
2 312 Ratkid Hovol 8B s 455l 531 (a = 0.6)

1 2 1
lO —4 —1]
2 1 2

10

10
10



